Level 8

l. Compare the rational numbers. 5 -3 O -1
(A) Same denominators ) ? 7
(i) Positive rational numbers (iii) Positive and negative rational
4 5 numbers
1 -0z
7 7 1) -5 0 5
@202 >0
23 23 2) -9 0 1
11 2
(ii) Negative rational numbers Il. Arrange in ascending and descending
—4 -5 order.
(1) — L —=
7 = 7
o 2L ie (1) o
23 — 23 6 4 3
Ascending
(iii) Positive and negative rational order
numbers Descending
4 5 order
1 — L=
7 = 7
=21 16 -8 -4 -2 -7
(2) _D_ (2) )y T_—0 T,
23 23 9 7 3 12
Ascending
(B) Different denominators order
(i) Positive rational numbers Descending
4 5 order
(1) - L1-
6 = 8
21 16 2 7 -7 8
@ -0 3) = 7 o3
25 23 -5 4 9 9
Ascending
(ii) Negative rational numbers order
-4 -5 -
1) == Descending
9 6 order




Answer Key for the Worksheet

l. Compare the rational numbers. 5 -3 -1
—_— <_
(A) Same denominators ) 5 7
(i) Positive rational numbers (iii) Positive and negative rational
(1) i < E numbers
7 7 -5 5
21 16 W5 <%
2) —>—
23 23 -9 1
(2) — <=
11 2
(i) Negative rational numbers Il. Arrange in ascending and descending
(1) —4 < -5 order.
7 7
_ _ 1 -1 1 -1
(2) £<£ (1) e 5’ 1 3
23 23
Ascending | -1 -1 |1 1
(iii) Positive and negative rational order ) 6 4
numbers Descending | 1 1 -17-1
4 s order 4 6 3
1) — <<
7 7
-21 16 -8 -4 -2 -7
2) — <— (2) —, —, —, —
23 23 9 7 3 12
Ascending | -8 -2 | -7 |4
(B) Different denominators order 9 3 12 7
(i) Positive rational numbers Descending —_4 —_7 —_2 —_8
order
(1) 4 S E 7 12 3
6 8
21 16 2 7 -7 8
(2) —> (3) Y ) 5
25 23 -5 4 9 9
Ascending | =7 | 2 |8 |7
(ii) Negative rational numbers order 9 -5 19 4
1) -4 N =5 Descending| 7 |8 | 2 |7
9 6 order 4 |9 |-51]9
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